Miscellaneous work sheet - 1

Find x, y and z given that the numbers x, 10, y, 24, z are in A.P

x, 10, y, 24, z eeiuemer @b Sl (BS OHTLJauflewsulsd o sltener eleied, X, Y, Z
S FHWIUBSET DHIL| BT,

a.6,12,27 b. 4, 16, 30 c.3,17,31 d. 5, 18, 31

In a theatre, there are 20 seats in the front row and 30 rows were allotted.
Each successive row contains two additional seats than its front row. How
many seats are there in the last row?

R JFelor  SPmESa  (1WPpHeo  alflmsulled 20 BHEMBBEHD CoTHHD 30
aflengsEpd o eanal.  SBHHBHS @alCamp afloFulad DSBS (WhmSW
aflengmwal. BT SHEHMBHET Fn(HHVTH 2 6IT6N60I. sMLF  auflemnFuled
IHBHMDT BHBHMBH6IT E)(HHGLD?

a.74 b. 78 c. 80 d.76

If nine times nineth term is equal to the fifteen times fifteent term, six times

of twenty fourth term is.

Qb GBS OFTLTuflensulet eaLUSToUH o Ml @6l LLRIGLD,
UFHmebIHToudH o miile UHMIbH OLHIGD FIOWD 6leled E(HLUSH HTTHTOIS]
® mInleT SLMWI DL BIG).

a.24 b. 15 c.9 d.0

Find the sum of the following 6 + 13 +20 + ... + 97
Lesteumelemaumler gnBdHev &mewis. 6 + 13 +20 + ... + 97
a. 103 b. 498 c. 641 d. 721

How many consecutive odd integers beginning with 5 will sum to 4807
5-00(pbd  OHTLMIS  eihHema OCFHTLTFF T @Benm  (LPIDHBHMETH  Fnl 1Q6ITT6V
F(BHFHeL 480 FHlewLBH@GHLW?

a.21 b. 19 c.22 d. 20

If a, b, c, I, m are in A.P, then the value of a -4b + 6¢c - 4] + m is

a,b,c, I, m aaiuer gl Bdh OFHTTeauflenguled minier a-4b + 6¢c-41+m =
a.1 b.2 c.3 d.0
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Find the middle term (s) of an A.P 9, 15, 21, 27, .... 183.
Heteumd anl (s GHTLMed 2 eiten BB _miilmensd srewis. 9,15, 21, 27, .... 183
a. 93,99 b. 87,93 c. 99,105 d. 81, 87

Find the rational form of the number 0123.
0123 eI TemTamien aNB\H(LPHBI CUIQEUD SHTENIS.
41 123 41 123
a. — b. — Cc. — d. =—
330 329 333 301

Find the number of terms in the following G.P.
Neitau(pd  OLHBSGHSH OHTLJouflengulsd o 6ifemn o MIlI|SH6T6  616wT6001HNHMUIS
1
'9' 27" 2187
b. 8 c.”7 d.5

Find the sum of first six terms of the G.P. 5, 15, 45, ...
5,15,45, ... aaiB QUHSSGHH OHTLT euflenguler (pHed 6-2 mIiEeNer gn{HEH6e0
SITE0Ib.

a. 3,640 b. 2,620 c. 1,930 d. 1,820

Find the sum of the following series
Lesteumd OFTLjHeMer gmbBHemevd Srewid. d1 + 52 +53 +...+ 92
a. 2973 b. 248 c. 1,763 d. 3,003

Find the sum of the following series
Leteumd OFHTLTHeMer FmbBHemevd Srewid. 1 +4 +9 +16 +...+ 225
a. 2,000 b. 3,256 c. 1,240 d. 3,636

Find the sum of the following series
Leteumd OFTLTHeMelr gmbHemevd Srewid. 1 +3+5 +...+71
a. 1,225 b. 1,296 c. 1,156 d. 1,444

Ina G.P 729, 243,81 .... find t;
Heteurpd QUmBEG OFHTLT euflewgulen 7eug o miienu srewis. 729, 243, 81...

a. 1 b.3 c.2 d.%

If1+2+3+...+k=325then find *+2° +3° +...+k°.
1+2+3+...+k=325aaf0 1*+2°+3+...+k*-a1 WFHI] BT6wic.
a. 105625 b. 34328125 c. 975 d. none of these
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Find the sum of 2+ 4 + 6 +...+ 80
FmbHe0 STewid. 2+ 4+ 6 +...+ 80
a. 1,420 b. 1,640 c. 1760 d. 1,800

How many terms are in the series -11, -15, -19
-11, -15, -19 -83 B5H0HTL M0 aTHHme 2 MINILH6T 2 6iTerme?
a. 20 b. 21 c. 19 d. 18

Find the 10th term of a G.P’. whose 8th term is 768 and the common ratio is 2.
R OUmBSHH OFHTLT euflenguile 8-eugkl o miiy] 768 wmmid Ourgk S 2
aTellen, SIFHei 10-euFH 2 MILIeVLIS SHT6wI5S.

a. 4,028 b. 3,072 c. 6,124 d. 3,112

Find the number of terms in the A.P 3,6,9,12,....111?

3, 6, 9 12, ... 111 eae@m &LBGOSHTLT ouflwsuled eHHemenr o BIIL|SH6T
SIMLOHFI61T61T60T?

a. 36 b. 37 c. 41 d. 39

The ratio of 6th and 8th term of an A.Pis 7 : 9. Find the ratio of 9th term to 13th
term.

Qb Sl (S OFHTLJauflenguler 6-augkh LBBID 8-eukl o milisefer elslgd 7 : 9
aTeollen, 9eugl LMmID 13-6ugh 2 Ml FHelen alHHD HTewIsb.

a.8:13 b.11:14 c.8:12 d.5:7

Solution:

9(a + 5d) = 7(a + 7d)
—=a=2d
t a+8d 2d +8d

Now, =& = = =2
t, a+lad 2d+12d 7

t, 1 t, =95:7

2
In an A.P. the sum of first n terms is 5%+3?n . Find the 17th term.

2
R Sl (BH OHTLTuflenguled (WHeo 1 2 mIliHeMeT FnbHHeo 5%+3_2n eTeullon, 17-

Gl 2 MILMLIS BTN,
a. 84 b. 78 c. 96 d. 80
Solution:
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S,, = (5(n—1)2+3(n—1)) = %(5n2—7n+2)

(2B SR -

=}

T=

n

- Sn—1

( n’ +3n—5n2+7n—2)
(

10n-2) =51-1 — (i)

NP N

Putn =17 in (i) we get,
LT, =5017)-1=84

Find the sum of all natural numbers between 300 and 600 which are divisible
by 7.
300- &@& 600 -G LG 7 0 UGUBD DmeTHH DUled 66w S 6160
Fn(HFH6L BHTENIS.
a. 18,264 b. 17,264 c. 19,264 d. 20,264
Solution:
From 301 to 599
301 =7x43+0
599 = 7x85 + 4
85 - 42 =43 terms
. The series 301, ..., 595
S, = g(a+l)
%(301+ 595)
=19, 264

An A.P consists of 31 terms. If its 16t term is m, then the sum of all the terms

of this A.P. is
Qb L (BH aTLJauflengulsd 31 o mIiIyseT o elenel. SISt 16-eugh 2 Ml
m eiedley, bHH L (S OHTLJeuflenguled o 66 6T6060T 2 ML |H6M6T FnHH60.

a.lém b. 62m c.31m d. %lm

Solution:
t, =m

s, = %1(2a+3o)

%(2(a+15))

= 31(t;) (- t, = a+15d)
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=31m

a-b 3a-2b 5a-3b
+ +

a+b a+b a+b

a-b 3a-2b 5a-3b
+ +

a+b a+b a+b

Find the sum [ +..t012 terms}.

FnBIH6V SHTCIIb. { +12 g@uu&,m}ajmg

a. i(4a—13b) b. L(24a—13b)
a+b a+b

c. 2 (2a-130) d. - (4a-13n)
a+b a+b

Solution:
a-b = 3a-2b ) a-b _ 2a-b
a+b’ a+b a+b  a+b

gpa+m—nd]

12 2(a_bj+11(2a_bj
2 a+b a+b
® 24130

a+b

Find the sum3 +1 + %+ ...00

3+1+ %+ ...0 eI OFHTLH6T FmBHO HTCUwIHb.

a. 3 b. 4 C. L d. 2l
2 3 2 2
Solution:

3+l+§+...+oo 1+%+3—12+...+ooj here,a=1and r =

2

2 2

The houses of a street are numbered from 1 to 49. Senthil’s house is
numbered such that the sum of numbers of the houses prior to Senthil’s
house is equal to the sum of numbers of the houses following Senthil’s
house. Find Senthil’s house number?

Qb Oxmalaeren aihsendE 1 (WPHe0 49 ey OFHTLIFHWLTHS BHHaN60HHID
QULPMIBLILIL (HeTer ). CgphdHedar il luBE WelaHTas 2 6lenm  ailhHerler
5Hle0bEMmIBT6 gl (hdh OHTensWTaId CFbHHelar il B@Gl UaiarHTes o 66l
aihsela sHalevdsnisele L L HOHTmHHGHF FWb ealled CFbhHeder ai B
BHNNVHHHMNHE HTEWIS.
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a. 35 b. 45 . d.25.

Solution:
Sum of the numbers of
houses preceding x = Sum of the number of houses following x
LS T Spe - Sy
Sum of first n natural numbers S, = n(n+1)
(X=D(x-1+1) _ 49(50)  x(x+1)
2 2 2

1 1
E[x(x—l)] = E[2450—x(x +1)]

x(x-1) = 2450 - x(x+1)
x?-x=2450-x2 - x
x?=1225
x=-35o0r35
Since, number of houses cannot be negative.
s x =35

Miscellaneous work sheet - I Answer
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